
18.%fIlSWl
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Q
Rx E-J--

(Qx)o
(18.1)

S Ql3 ‘Q, R*
‘IA =  (Q,jo  UQ,jo = R,

(18.2)



5 7 5

S 814  =
QB- =R,

(Q,h

X, = kJ& (18.4)

XEI = 44% (18.5)

X = X, + X, = k,,Q, + k,Q, (18.6)
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X, = k,(Q,,), (16.7)

(18.9)

‘lM”  Q,  = R,(Q,), UAL Q, = R,(Q,), haunl5  (18.9) 131~)~~~



wMgzP207 = Mg;2g07  (c&J = 4.579(Q&

wZn2P207  =
Zn2P207

2zn (QZ”) = 2.330(Q,,),

2.330 1
E, =(I.OOO-I)  ~~RRZn  Io.0020

R,, I 0.0079



(18.11)

(18.12)
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?i PwrJ (18.13)

f” 2 =(
W O

(18.14)
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%vh  a) wnRaJnd  (18.13) mo:\:m’

w, = ( = O.‘506wJ

ktki  ik’liOU~ZUOJ  A 6$n”&l  ihilltilfb

%E =(
Wo  -Y

WO
)lOO

1-0.1506
=

( 1
)lOO

=  84 .9%

b) #A'Jolnnl5t7?%  4 nT”J  LdFlJUWlnRUnl5  (18.13) ln9:\6

w,  = (
/

(47;;+ 1w)4W, = 0.0296&,

<J&t

1 - 0.0296
%E =(

1
)lOO

= 97.0%
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3. 1 lpo- 99.9 5.00 n

w. 100 = Lox5.00  + 5.00)

1

1000
= (;P

n =3

5.00
Wl =  ((9.0  x 5.00) t 5.00

)Wo
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P = D
D + (v.  IV,  )

q = -
( “ , i”,,D +I

(18.15)

(18.16)

(18.17)

(18.18)

(18.19)

(18.20)
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n.I
f“J = r!(n-r)! P’q”-’

LmmJBunl~  (18.17). (18.18, (18.21) t¶lFI:~6

n.1
f D*n.r = r!(n-r)! = (D + l)U

(18.21)

(18.22)

MtwslLRY~ tFiVti?UUOJH'l5  A LfWhUli0JR75  B

0 4! 4! 3O
KvJh = 0!(4  - O)! (o.;f)4  = o.482 (f‘%dB  = 0!(4  - O)! (3+= 0.0°4

1 4! 0.2’ 4! 3’
(f,,,),  = 1!(4  - l)! (0.2 + I)4 = o.386 (f,,, jr3  = 1!(4-l)!S’ o.047

2 4! 0.22 4! 3l
04,A  = 2!(4-2)!  (0.2+1)~ = “‘16 (f,,,),  = --21(4 - 2)!  (3 + 1)4  - o’21 ’

4 4! 3l
(f,,,),  = 4!(44: 4)!  (o.;.;)4 = O.OO’ (f‘l,A  = 4!(4  - 4)!  (3+1)4= o.31 6
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0 1 2 3 4

T u b 4  a4nbmr

hn5.i r = rmu RWll’I  ( 1 8 . 2 3 )  o:ln’

fn.r = 1 d2Xnpq (18.25)



(18.18),  (18.23) ma:%

D + ’fn., =
7zz”

-(rm,-r)2(D+1)2/2nD (18.27)

(LA
500 x0.75

= z 214
0.75 f 1

(LA
500 x0.95

= = 244
0.95 + 1

LJ,  =
500 x 1.70

m 315
1.70 +l



dsooxo.75 k , , ,
a,  =

0.75 + 1

v5tiGiz
0, = = 11.2

0.95 + 1
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RSO,H  + NaCl === RSO,Na  + HCI (18.28)

2RS0,Na  + CaCI, === (MO&a + 2NaCI (18.29)

RN(CH,),OH  + HCI = = = RN(CH,),CI  + H,O (18.30)

RN(CH,),CI  + NaNO,  === RN(CH,),NO,  + NaCl  (18.31)

(R ~rnd?u~r~L?IRni5uAnt~~Uu’UDJlULR?RW8~tUOjlJOJtS~u)

nithi’~~A  (214 - 1.96 x 11.1) ii~ (214 + 1.96 x 11.1) &I&&  192-236

nitf.h.&ms  B (244 - 1.96 x 11.2) iiJ  (244 + 1.96 x 11.2) &.&I 224-266

ni1ilumn-r  C (315 - 1.96 x 10.8) ?IJ  (315 + 1.96 x 10.8) h&i0 294-336
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I I

-CH,-&H-CH,-CH-CH,-iH-CH,-iH-CH,-CH-CH,-CH-CH,-

I I I

bl

I
--Hz-CH--Hz-CH-CH2-CH-CH1-CH-CH2-CH-cH2-CH-CH2-

’ $ * &CH2N*,C:,,,C,-

-CH,-CH-CH,~CH-CH,-~H-CH~-~H-~I~,-~H-~H,-~H-~~,-

CH?N+  iCH,),CI- Q

-~H2-CH-CH2-CH-C~~-~~-C~2-~~-~~,-~~-c~2-c~-c~2-

I I I I
lbl

(oT?uanr~iuuunnlooou) M+  + X’R-  CZE x’ + M+R- (18.31)

(hui=mr~iJuuuaulooou) M-  + R+x- = = = x- + FI+td- (18.32)

Kg = KlDfN  _ [x1[M4
l-w[~l  PmXl r

(18.33)



M + XR === x + MR (18.34)

Pf  RI
K, =-

WI
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rno:Ei

INa+ = 2.20 x 10m4  meq/mL

[Na’],  = [meq Na’ &MWI - meq Na’ \UNl5RrRlU)/g  YoJLT~

= [( 100 mL x 1 .OO x 10.’  meq/L) - (100 mL x 2.20 x 1 Om4  meq.mL)/0.150  g

F’l

= 0.52 meq/g

= [Na’l&,,+,  - [Na’l,:-,u

= (1.00x 1o-3 - 2.20 x 10s4)  meq/mL

= 7.80 x 10m4  meq/mL

N’l, = (meq H’ &JJ” - meq Na+  ~UWlXitRIU)/g  UOJLS’%J

= [(0.150  x 1.75) meq - (100 mL x 7.80 x 1 Om4  meq/mL)/0.150  g

= 1.23 meq/g

ttlludln&JMu”eJ’lu~unl~  (13.35) m5lrm

R) t%.dr~ln~nn75ns:~i~  dfiitviif%

0.52
K,  =

(2.2x10-4)
= 2.36 x 1O-3

___-_---_--______-__-
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18.1.

18.2.

18.3.

18.4.

18.5.



595

_________-_-_-_-_-_-------


